550 B ARy MR —)LEFEARHEE
IXERXEYT IS S—
A B.E.F: TER-L

C.D: ANEBR-LA

BAIE : 4, FFEE 2, IKBE : 3, =FI8 : 1. 5110

188 (12838 (1)) 288 (12848 (A) ) 188 (12838 (1))
. ILT5Z E E m+ "
BAE 141 @3A| | ¢ @3 IS E218 1 i
, PROLINE 14:40 i i 14:40 AIRIAM .
BHNRA D1A ! 1 ! @18B I ERIE 3417
3 SWOOPS 11:00 i ®2E ZFE 11:00 1A UNITED 8
7 ERIE 247 ji1:20] @4 |11:20f BHNE 21T
4 IZURASHI E 15:00 E SPIRYTUS .
BAREIR 24 ®3B| !  |@3c BAIE3MAI
] 055 14:40 . 37 | 14:40 SEANEIER 5T .
=ER1f7 | ! BRI 147
! BAF !

15:00

BB 2. BEE 2 KRR 2 =858 2 .58

188 (12838 (1)) 2818 (12848 (8) ) 188 (12838 (1))

) Revelize i i RISE .
=ER1I ®2A i i ®2D RS 14

, Wins 12:50 ! B ! 12:50 VEAT ]
BHIE 24T : ®1E @1F : =®mEf

5 IGNIS jo30  ®3E  |9:30f Twb c ]
BERAT @8] | 13:10 i [oaxc e AT

. higH57 12:50 E 3 i 12:50 LOWS ]
5=1=N Ry i i BB 147

{ {

[®3F]

13:10



12/3 () IREXEUTIESS— (TER-L)

A B
1 11:00 PROLINE Vs SWOOPS 1A UNITED AIRJAM
BANR4A{T (=122 vi BRNE 247 (=12 v
2 12:50 Revelize Wins IGNIS guEy57
VS VS
=EEBI{I B4 BRMEE 241 (=1 v
3 14:40 ILTSR IZURASHI 055
VS VS
BN 14T OBsE BRMIIE 241 ==-1=8¥vi
12/3 () KEXEUTILEIHY— (WNEBR-L)
C D
1 11:00
2 12:50 LOWS Iwbc VEAT RISE
VS ® VS
BANE 14T (=1 2ivi =-<1=bZvi EE =SR2
3 14:40 SRR ST SPIRYTUS {h+
VS
BRME 141 B3 QBE (=1 vd
12/4 (H) KEXEUT7IEISH— (TER-LA)
E F
1 9:30 o
OBsE VS @BE OBE VS OlizE=]
2 11:20
OBsE VS ®BE OBE VS OsE
3 13:10
D& VS QBE OE VS QEE
KER
4 15:00
D& VS VBBE OE VS @BEE




